Precalculus Chapter 1 Test Review Name Per

1. Graph each equation:
a) y=(x-3)%+1 b) y=[x-4-1 ¢ y=vx+1-3 d) y=-x+4 e) y=(x+2)°
—“— A A A _ﬂ_
I T I
L1y T T T T
T e e
T 4+ 3 + 3 + 3 T 3
2T S i s EEE

F(x) = |lx — 3| Find f(2.5).

Find an equation of the line that passes through (15, 1) and is

parallel to the linex —3y =1 b) perpendicular to the line 5x + 3y =5

A company’s yearly increase in profit is approximately linear. In 2000 it made $500,000 and in
2004 it made $548,000. Estimate the approximate profits for 2007.

Determine which equation(s) represents y as a function of x.

(@ y= x| (b) 3x+2y =9 €) y=(x-2)"-2
(d) y* =5x-2 (€) |yl=2x-1
Given f(x) = x? + 2x — 3, find f(x+3) — f(3). N
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Find the range of the function:. . >
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Determine the open intervals in which the function 24
is increasing, decreasing, or constant. /Kl\
AL | L]




9. Identify the type of symmetry for each function:
Q) y=x%+5 b) 2x? +xy —4 =0 Q)x®>—2x3—y=0
10. The graph at the right is a transformation of the graph 8

of f(x) = v/x . Find an equation for the function. / B
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11. Given f(x) =2x2—5and g(x) =3 —x, find (f o g)(x). B
)
12. Algebraically, determine if the functions are inverses of each other.
2X+5 3X—5
f(x)= X) =
(0)="5" 909 ==
13. a) Given f(x) = 1 x? + 3, find f1(x). b) Given g(x) = (x—4)°, find the inverse of the function.
14, 1f(x) = X2 + 6x + 9, then find - X+ =€) ¢,
c

15. For the function f(x) = x? + x — 6, determine:

(a) whether f(x) is even, odd, or neither

(b) the intervals for which f(x) >0.
16. Determine the domain of the function: f(x)= 28 5

X —
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17. Graph: f(x) = {(X 3, x<4
—-X, X>4

18. Given f(x) = x? and g(x) = 2x — 7, find the following: f + g, fg, and (f — g)(5).




Precalculus Chapter 1 Test Review Solutions

1. Graph each equation:
a) y=(x-3)%+1 b) y=[x-4-1 ¢ y=vx+1-3 d) y=-x+4 e) y=(x+2)°
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2. -1
3. a) y=ix-4 b) y=2%x-8
4. $584,000
5. a,b,andc
6. X2+ 8x
7. [-2, )
8. Increasing: (-2, 0); Decreasing: (-, —2), (0, )
9. a)y-axis Db)origin c) origin

10. f(X)=~+x+7+1
11.2x2 - 12x + 13
12. f(g(x)) = x, so yes.

13.3) y=+2x—-6 h) y=3/x+4
14.2x+c+6

15. a) neither b) x<-3and x>2
16. ARN: x = +3

17.
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18.f+g=x2+2x-7; fg=2x3—-7x% (f—g)(5) =22
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